
2 pcs 3/8” Stainless Flat Washer
1 pc Tube of thread lock 1 pc Instruction sheet

Strap

PM-Series 
part

sure about the proper hardware to use, consult a structural and/or 
hardware specialist. 

results. Do not exceed the working load limit of 300 lbs /136 kg.and 
always install safety cables.
Be sure that all of the following items are included in this kit before proceeding:
2 pcs Banding straps 1 pc Fixed Bolt Retainer Block 
(30”or 60” or 90” long) 
1 pc Sliding Bolt Retainer Block 1 pc 3/8-16 x 6” Coated Carriage Bolt 
1 pc 3/8-16 Coated Flange Nut 2 pcs 3/8” Stainless Flat Washer 
1 pc Tube of thread lock 1 pc Instruction sheet

Bevel

Sliding
retainer
block

4”-6”

Strap
Fixed 
retainer 
block

6” carriage 
block

PM-Series 
part

Strap

Fixed 
retainer 

Pole or 
columns

4”-6”

1 pc 3/8-16 Coated Flange Nut 2 pcs 3/8” Stainless Flat Washer 
1 pc Tube of thread lock 1 pc Instruction sheet

Figure 1

Step 2: Assemble the Pole Adapter to the strap

Be sure that all of the following items are included in this kit before proceeding:

1 pc 3/8-16 x 6” Coated Carriage Bolt 

Bevel

Sliding
retainer
block

4”-6”

Strap
Fixed 
retainer 
block

6” carriage 
block

PM-Series 
part

Strap

Fixed 
retainer 
blockSliding 

retainer 
block

Pole or 
columns

4”-6”

Sliding
retainer
block

Fixed 
retainer 
block

Step 1: Assemble Fixed Retainer Block 
Mark the strap at least 4-6 inches from the end from the end and fold the 
strap at the mark. Strike the strap at the bend to create a sharp radius. Slide 
the strap through the Fixed Retainer Block so that its bend will pass over the 

Figure 1

Figure 2

Sliding
retainer
block

Fixed 
retainer 
block

1 of 2

Step 1: Assemble Fixed Retainer Block
Mark the strap at least 4-6 inches from the end from the end and fold the 
strap at the mark. Strike the strap at the bend to create a sharp radius. Slide 
the strap through the Fixed Retainer Block so that its bend will pass over the 
beveled end of the block 
Step 2: Assemble the Pole Adapter to the strap
Insert the free end of the strap through the Pole Adapter’s slots, then through 

Figure 1

Figure 3

Step 2: Assemble the Pole Adapter to the strap
Insert the free end of the strap through the Pole 
Adapter’s slots, then through the Sliding Retainer 
Block, non-beveled end fi rst (Figure 2).

Step 3: Determine Strap length for Pole
Holding the Fixed Block fi rmly against the pole, 
overlap the strap. Move the Sliding Block up against 
the Fixed block so that their two beveled edges meet
each other (Figure 2).

Bevel

Sliding
retainer
block

4”-6”

Strap
Fixed 
retainer 
block

6” carriage 
block

PM-Series 
part

Strap

Fixed 
retainer 
blockSliding 

retainer 
block

Pole or 
columns

4”-6”

Figure 1

Figure 2

Figure 1
Step 6: Place the strap assembly around the pole, at 
the fi nal mounting height and secure the Retaining 
Blocks with the Carriage Bolt, Flange Nut and Flat 
Washer. Be sure that the Pole Adapter is oriented into 
the right direction and with the bolt assembly on the 
opposite side of the Pole Adapters (Figure 2 and 4).

Step 7: Tighen the Carriage Bolt Assembly until 
all slack has been removed from the fully loaded 
assembly. retainer blocks must have a minimum 
of 1/2” gap after fully tightened. Do not overtighten 
(Figure 5).

Step 8: Apply thread lock to the threads around the 
nut Step 9: Repeat above procedures for next strap 
assembly.

Apply 
threadlock 

here

Tighten nut
Flat washer

Pole or 
columns

1/2” Minimum

Figure 5

Pole 
adapter

Apply 
threadlock 

here

Tighten nut
Flat washer

Pole or 
columns

1/2” Minimum

 

 

DIMENSIONS: 

PM-SB-BAND-30  
POLESTAR® POLE BANDING KITS FOR 30” BANDS

WARNING: Mounting and/or suspension of equipment requires 
experienced professionals. Improperly installed equipment can result 
in property damage, personal injury and/or liability to the installing 
contractor. 

Adaptive Technologies Group
1635 E. Burnett Street | Signal Hill, CA 90755 USA
Ph: 562.424.1100 | Fax: 562.424.3520 
www.adaptivetechnologiesgroup.com

ALWAYS INSTALL SAFETY CABLES

Secure signs, mounts and other objects to round poles and columns 
using this band kit. The PM-SB-Band-30 kit offers a pair of 30” 
long bands and tensioning hardware. They are designed for 4” to 
6”/152mm pole diameters. The unique bolt kit requires only a socket 
wrench to secure and tension bands by hand. No special tools 
or equipment necessary. The 201 stainless band material is easy 
to work with, offers high strength, a clean appearance and good 
resistance to oxidation and weathering. These kits are great for both 
indoor and outdoor use. Custom lengths are available too. 

For marine applications, please ask our 
customer service for an alternative grade of 
stainless steel banding.

SPECIFICATIONS: 

Material: Stainless Steel 

Finish: Silver 

WLL: 300 lb / 136 Kg single speaker

*WLL = Working Load Limit

STANDARD FEATURES:
Securely attaches items to poles and columns

Rated for outdoor use.

Model Length Width Max Dia. WLL Weight

PM-Band-SB-30 30”/76.2cm .75/19mm 6”/152mm 300 / 136kg 1.5 lb. /0.7 kg

PM-Band-90 90”/228.6mm .75/19mm 25”/635mm 300 / 136kg 2.5 lb. /1.1 kg

300 lb WLL
PoleStar


